MEASUREMENT S	· · · · · · · · · · · · · · · · · · ·					· ·			
Company Name:	MRMailapurLLP	į.				Approved	d by:	Ram prasad	
Project:	Gulmohar Residency					Sign:			
Work Description:									
Contractor :	K.Mohan Rao								
Prepared By	P.Sai Kumar					-			
Date:	19/11/2019			.,		:			
			Α	В	С	D	E= AxBxCxD	F	G=Sum of E
S No.	Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units	Item Head Total
1	Westside Compound wall at labour quarters	PCC	3.50	3.50	0.50	16.0	98.00	cft	
		footings	3.00	3.00	1.00	16.0	144.00	Sft	
		Plinthbeam	220.00	1.00	2.75	1.00	605.00	Sft	
						<u>;</u>			
		16" interlocking brick	200.00	1.00	5.60	1.00	1120.00	Sft	
					<u> </u>				
		Columns	3.50	1.00	5.75	16.00	322.00	Sft	
				·······	. <b>.</b>				
		4" brickwork with CC bed	200.00	1.00	5.25	1.00	1050.00	Sft	
		ļ							

				1	1	i
	MRMallapurLLP				Approved by:	RAM PRASAD
	Gulmohar Residency				Sign:	•
		ill work at lab	our Quarters	j		İ
				I		
	19.11.2019					
m Head	Item Description	Quantity	Units	Rate	Amount	
ompound wa						
	PCC	98.00	Cft	5.00	490.00	***************************************
-	footings	144.00	Sft	35.00	5040.00	***************************************
	Plinth beam	605	Sft	35.00	21175.00	
	Inter locking brick	1120	Sft	15.00	16800.00	
	Columns	322	Sft	35.00	11270.00	
	4" Brick work on CC bed	1050	Sft	10.00	10500.00	
	Total:					65275.00
	Note: 1) Adding 30% rate	for small qua	ntam of wor	k		
,,,	2) Material shifting done	by Contractor	around 200	ft distance.		
	3) CRS broken wall for Fo	ootings again	Constructed	by Contract	or Only.	
	Total:					84858.00
vords:	Eighty five Thousand Eig	ht Hundred a	nd Fifty Seve	en Rupees O	nlv	
	ompound wa	West side Compound wa K.Mohan Rao P.Sai Kumar 19.11.2019  The Head Item Description Ompound wall at labour quarters PCC footings Plinth beam Inter locking brick Columns 4" Brick work on CC bed  Total:  Note: 1) Adding 30% rate 2) Material shifting done 3) CRS broken wall for Fo	West side Compound wall work at lab K.Mohan Rao P.Sai Kumar 19.11.2019  The Head Item Description Quantity Ompound wall at labour quarters PCC 98.00 Footings 144.00 Plinth beam 605 Inter locking brick 1120 Columns 322 4" Brick work on CC bed 1050  Total:  Note: 1) Adding 30% rate for small qua 2) Material shifting done by Contractor 3) CRS broken wall for Footings again Total:	West side Compound wall work at labour Quarters K.Mohan Rao P.Sai Kumar 19.11.2019  The Head Item Description Quantity Units Ompound wall at labour quarters PCC 98.00 Cft footings 144.00 Sft Plinth beam 605 Sft Inter locking brick 1120 Sft Columns 322 Sft 4" Brick work on CC bed 1050 Sft  Total:  Note: 1) Adding 30% rate for small quantam of wor 2) Material shifting done by Contractor around 200 3) CRS broken wall for Footings again Constructed Total:	West side Compound wall work at labour Quarters  K.Mohan Rao P.Sai Kumar 19.11.2019  In Head Item Description Quantity Units Rate ompound wall at labour quarters PCC 98.00 Cft 5.00 footings 144.00 Sft 35.00 Plinth beam 605 Sft 35.00 Inter locking brick 11.20 Sft 15.00 Columns 32.2 Sft 35.00 4" Brick work on CC bed 1050 Sft 10.00  Total:  Note: 1) Adding 30% rate for small quantam of work 2) Material shifting done by Contractor around 200ft distance. 3) CRS broken wall for Footings again Constructed by Contract	West side Compound wall work at labour Quarters   K.Mohan Rao   P.Sai Kumar   19.11.2019

## **Allowance for Consumables**

K.Mohan rao , Cherlapally, Hyderabad.

Date: 19.11.19

In favor of: MRMallapurLLP
Project / Site: Gulmohar Residency

**Location:** Mallapur

**Type of Work:** West side Compound wall at labour quarters

**Towards:** Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Civil work done for West side Compound wall at labour quarters . Total Amount = 84,858/- Work done from date 21.10.19 to date 18.11.19	Rs.16,971/-

Amount in words: Sixteen Thousand Nine Hundred and Seventy One Rupees Only.

## **Bill for Equipment Allowance**

K.Mohan rao Cherlapally, Hyderabad.

Date: 19.11.19

**In favor of:** MRMLLP

**Project / Site:** Gulmohar Residency

**Location:** Mallapur

**Type of Work:** West side Compound wall at labour quarters.

**Towards:** Allowance for Equipment

S No.	Description	Amount
1.	Brief description of work done: Civil work done for	
	West side Compound wall at labour quarters.	Rs.33,943 /-
	Total Amount = 84,858/- Work done from date	
	21.10.19 to date 18.11.19.	

Amount in words: Thirty Three Thousand Nine Hundred and Fourty Three Rupees Only.

Sign:			
OIZII.			

## Bill for labour charges

K.Mohan Rao, Cherlapally, Hyderabad.

Date: 19.11.19

In favor of: MRMallapurLLP
Project / Site: Gulmohar Residency

**Location:** Mallapur

**Type of Work:** West side Compound wall at labour quarters.

**Towards:** labour charges

S No.	Description	Amount
1.	Brief description of work done:civil work done for	
	Compound wall at North side . Total Amount =	Rs.33,943 /-
	84,858 /- Work done from date 21.10.19 to date	
	18.11.19.	

Amount in words : Thirty Three Thousand Nine Hundred and Fourty Three Rupees Only.

Sign:	

## Construction division. Advice for giving credit to contractors/suppliers.

Sl. No. – site bills register		- 32-		Date - site bills Register		19/11	2019			
Company Name:		MR Mallapur UP 5					GMR			
Nam	e of Contractor		K. Mohan Rao							
Natu	re of work		Alest Side Compound wall work							
Worl	k done	From Da	te 21	10/10	To	Date	18 1	119		
Sl. Villa/Flat/block no.		Qty.	Rate		Units Amou			Contractors bill no		
1.	Compound a	all -c	1- Rs.8	4858	- No!s	Rs ·	84,858/-	-		
2.				' 1			, ,			
3.				ž						
4.										
5.										
6.										
7.		/								
8.										
9.										
10.										
11.		otal:				Rs. 8	4,858/-			
Bill 1	required	□ YES ↓	₹NO.	GST	bill requi	red	Ó YES	A PERSONAL PROPERTY.		
	surement &	Requir		Measurement &						
Drugesterant.	nate sheet: VO no.	□ Not re	quired	estimate sheet: PO/WO date:			☐ Not enclosed			
				FO/V	v O date.					
Rem	arks :									
								4		
Appı	oved by Project Ma	anager .	Approved I	y Desi	gn Team	App	proved by	M.D.		
Date		Date:	259	1	Date:					
Sign	:	201111	Sign:				Sign:			

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.